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QUESTION 1

Choose the statement that best describes the use of Enterprise Beans as JAX-RS root resources: 

A. An Enterprise Bean can be made a JAX-RS root resource only if EJB-specific features such as transaction
management or security validation are not used. 

B. JAX-RS imposes no limitations on the characteristics ofthose Enterprise Beans that can be exposed as JAX-
RSresource classes. 

C. An Enterprise Bean that is exposed as a JAX-RS root resourcecan no longer be used directly as a remote bean itself
- thebean implementation class can be accessed via the remote EJBdistributed framework (RMI), or a JAX- RS root
resource, but not both concurrently within the same application. 

D. An Enterprise Bean that is exposed as a JAX-RS root resource supports all the same features as a JAX-RS resource
that it supports as an EJB. 

Correct Answer: B 

 

 

QUESTION 2

Choose the code fragment that corresponds to a resource delegating processing of a request to a subresource
correctly, when processing the URL "/parent/child" (Choose one): 

A. @Path("/parent") class Parent { @Path("/child") Child getChild() { return new Child(); } } class Child { @GET String
getName() { return "name"; } } 

B. @Path("/parent") class Parent { @GET @Path("/child") Child getChild() { return new Child(); } 

} 

class Child { 

@GET String getName() { return "name"; } 

} 

C. @Path("/parent") class Parent { @Path("/child") Child getChild() { return new Child(); } } @Path("/child") class Child {
@GET String getName() { return "name"; } } 

D. @Path("/parent") class Parent { @Path("/child") Child getChild() { return new Child(); } } class Child { String
getName() { return "name"; } } 

Correct Answer: A 

 

QUESTION 3

An automobile manufacturer publishes a Web service for use by their suppliers. The manufacturer has stringent security
requirements that require suppliers to verify their identity. Data integrity and confidentiality must be maintained between
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the client and the server. Which two meet all of these requirements? (Choose two.) 

A. X.509 and XKMS 

B. XACML and XKMS 

C. SSL and mutual authentication 

D. XML Encryption and XML Digital Signature 

E. Private network and XML Signature 

Correct Answer: CD 

 

QUESTION 4

Which two statements are true about creating a Web service with JAX-WS? (Choose two.) 

A. Stateless Web services must be created with HTTP servlet endpoints. 

B. Creating the portable artifacts by hand is slow, but makes a service easier to maintain. 

C. All Java-based endpoints share a common packaging model. 

D. EJBs can serve as endpoints if hosted in a container with runtime and service support. 

E. JAX-WS supports creating services from source and compiled code without a WSDL. 

Correct Answer: DE 

 

QUESTION 5

Given that: 

What is X in the above code ? (Choose one) 

A. byte[] 
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B. DataHandler 

C. Image 

D. Byte[] 

Correct Answer: C 
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